FILBNR—=)T 4 > A&
B M —REPHEE ) > N2 —
S — T TR E

WM T 0T 5 L BERMIRE - SEELPI VL — TR’

1|

ZRMMBLER -1 ik

2024£E9H 10H

E¥M4 0 1P S IMAREZIO RE . M (2024)
Wik \ | swses F1-PS-200, F1-PS-215
Bl H 20244E9H 10H (4:58 ~ 9:14)
5 52 4 i o ZEAR RS R | Wi (mSv/h) i
lyoi (;_l‘lji T%gfrfﬁ) e (nSv/h) (20244£9A3H-4F) fii#
1 [k BRI R (55 1 ) T — =
2 O e R (585 2 ) LB — —
3 4k BE R T R (555 3 B~ 105 8 b)) B — =
4 1 A S A I R (555 9 bAE) S0 2B B 0. 005 0. 005
5 25 BESE I BT (35 O 1) R 11 HBEH 0.001 0.001
6 8 6 B TE AR B (575 9 440) M L= 1% jen: 3] 0. 001 0.001
1 L {K BETEA IR AR (10 B 10-A TR — =
8 T B e I (1 0 44) 10-B B — —
9 T o BETE I R (1 0 ) 10-C B = —
10 — IS TUTAL JaN: 3 0. 001 0.001
11 —BRETU T A 2 a3 0.001 0.001
12 — I RETY 7B B 0. 002 0.002
13 —IRETY 7 C R 0. 001 0.001
14 —BREETY 7D N3 0. 003 0.003
15 —IETY 7E 1 B 0. 003 0.003
16 —IRETYTE 2 TBES 0. 005 0. 005
17 —W ST 7F LB 0.002 0.002
18 —IHRETY 7 G (LA D) RITA HER) 0.001 0.001
19 —IRAETY 7 G EEMEIEA D) fRAFA (EHER) 0. 001 0.001
20 —IFRETY 7 G (L) oA () % 3 0.001 0.001
91 —BHRE T 7H (EMEIEA D) {RITA (R 4R) 3 3 0.001 0.001
22 —I{RFET Y 7 H (LA D) (RITA (1) %3 0. 001 0. 001
23 —WE T 7 H (Lm() {RERA (48) 3% 3 0. 001 0.001
24 —MBpETY 7] FES — — ERHMLEERURES SFRLEIANEERRLVED
25 —BRETY 7 L B 0. 001 0.001
26 —IRE T 7 M (A R) HARA (3 10) 3% 3 0. 001 0.001
97 —BERE T 7 M (HAR) RPRA (9 4R) % 3 0.001 0.001
28 —BRAE T TN TLEE — —
29 —IRETY 70 LB 0. 002 0.002:
30 —I T 7P LB 0.003 0.003
3] —WF T TP Ban: ] 0. 004 0.004
39 —RETY 7V BRI = =
33 — W RETY 7V B 1 — -
34 —WERETY TV JLER = =
35 —BRETY 7X R — —
36 —BEEET Y 7 AL LB 2 0.001 0.001
37 — I R4 T ) 7BB HBEH 0. 002 0.002 -
38 — WA T 700 B 0. 002 0.003
39 —I AT ) 7DD B 0. 001 0.001
40 —I§{R4E T Y 7EEL B 0.001 0.001
41 —I§ 4% ) 7EB2 LB 0.001 0.001
42 —B§fRET Y 7d B 0.012 0.012
43 —WHRETY Te LB 0.009 0.009
44 —IRETY 7k (BAD) R 2 0.001 0.001
45 —M T 7k GEAR) B 2 0. 004 0.004
46 —IRETY T | TR 2 0.001 0.001
417 — B RETY 7 m () R — —
48 —WHRAE TV 7 m (75 (W) LB — —
49 —BRETY T T (R 7oA (BESEAR) — —
50 —BRETY Ta 8 5 Rl A % — =
5] —BEET) 7h 0071135 1 2 A< 55 0. 001 0.001
59 —BRETY 7o 007 10 35 el A< 5 0.001 0.001
53 —MRETY T 008 10355 (o A 5 0.001 0.001
54 —RETY T ] ol 5 15 208 2 % — —
55 — BT To 00 o PRl Ak 2 0.001 0.001
M1 REWIE, SRS REEAR (BEER - 848) offm )
¥ 2 FICEMEZEETL2H00, FHFRERSEDOHREDITI.
%3

D EIZRIER (BR) 2RETHLO0, BER FREE{EETRAE UL BEROEMFIRELAE) OREBITI.




HRBNR—INT 4 27 A&
S — B HEAE ) >N = —
WS R T IIEE

FEFEDRE T 0T T L FERDIRE - SEALPI /N — T’

ZRIMBLERR -4

20244E9H 11H

ALk

E¥M4 0 1FH S INMAREZID REED. IR (2024)
Wi | ihugss F1-PS-200, F1-1CW-336
i By 20244£9H 11H (5:11 ~ 9:02)
s sz ) 2B Y iR T (@13 5 & (mSv/h)
1510& (JE-L‘JJ‘L;;Z@W P r :r?S\'/h) (20244E9H3H-4H) ﬁﬁ%
1 1 B A RE I (55 1 ) B 0.008 0.008
2 1 P BESE I R (335 2 ) FLBE 0. 006 0. 006
3 Pk BESEA T RERE (555 3 4~ 105 8 1) B 0.003 0.003
4 1 BE e T (555 9 B) 3 R 2B LB = —
5 i BE A I BT (555 9 b S F 1% B — =
6 181 S AR REE (455 O 1) Hb - 1% RER — —
1 R B REHE (1 0 1) 10-A B T ry
8 Bk A T (10 1) 10-B LB — —
9 I f e BEHE (1 0 #41) 10-C B — —
10 —MRETVTAL RES — —
11 —HRETVTAZ2 TR Fag =
12 —IFRETY 7 B T e —
13 —BRETY 7 C R — —
14 —REETY 7D TLBES — —
15 —WRETUTE 1 HESR — —
16 . —MRETYTE 2 LB = —
17 —W ST 7R B — —
18 —IFRE T 7 G UEMAD) {RARA (i) — —
19 —IFRETY 7 G Lt A D) (R AA (HesEiR) - —
20 —BRETY 7 G (L) [RARA (504R) 3¢ 3 — —
21 —BFRETY 7 H (EMAEA D) 1R (4R % 3 — —
22 —BRAE T ) 7 H (LA D) {RARA (8041) 3 3 — —
23 —WE{RAE T 7 H (L7 () {RARA (B 14R) 3% 3 —
24 —RETYT) LB 0 005 (] 005 RRAELEER YRS L TELEIANERRRLUE
25 —MfRETY 7L JLHEH =
26 —FRETY 7 M (A D) (REA (GRIR) % 3 — —
27 —IFRAE T 7 M (A D) {RARA (604R) 3 3 — —
28 —WHRET Y TN FLBER 0. 001 0.001
29 —IRETY 70 T — —
30 —W{RAE T 1) 7PL B — =
31 —WfRETY 7P2 REE — =
32 —IFRETY 70 TLBES 0.001 0. 001
33 —BRETY TV B 1 0.004 0.004
34 —HRETY 7V o il 0.003 0.003
35 C T 7X B 0.003 0.003
36 —PFRE T 7AA TR 2 S —
37 —BFRAE T 7BB B —= —
38 — I RETY 700 LB — —
39 —WFRETY 7DD FLEER = =
40 —WRAF T 1) 7BEL LR — —
41 — W4 ) 7ER2 BRI — =
42 —W5RAE ) 7d HESA — —
43 —WHRE T Te R — —
44 —WERE T 7k (A D) LB 2 — —
45 —BERAET ) Tk (HAD) LB 2 — —
46 —WRE T 7 | LB 2 — —
47 —BERAE T 7 m () LR 0.033 0.033
48 —BHRET Y 7 m (7 ) LB 0. 009 0.009
49 —WRETYTT RATA (Ko iR) 0. 001 0. 001
50 —WFRETY Ta B J11 355 R K 55 0. 004 0.004
51 —BHRAE T T 851 5 ol A 5 — —
59 —IFRETY 71 0851 55 a5 — —
53 —HRETY 7 0851 355 el 55 — =
54 i —WRE T 7 (1 5 Al A 5 0. 004 0. 004
55 —IFRAET Y 7o {5 11955 (6 A< 55 = =

X1 REYS, RERE A (BHEAR - B4R bt

X2 EICEMEZRET 200, FEMFREREDHREDITS,
¥ 3 EITHEA (BR) Z2RET2000, FEE (REEETRAE LIRS ROEMFREAS) OREDITS.




(mSv/h)

WBHRERMES (RE)

1. 000
0.100
M
. o
Y. TEN™™
0.010 @ 2n__t ——— ] =
o .- =] 3 :
a0 Ko 3 T i\ ﬂ? AW um_u i 'f wf
9’} V k. PR B Y Y
i R A LA
T4 A8/ AN T2/8/0 T 2/8/1 T22/12/1 T 23/4/1 T 23/8/1 “23/12/1 ' 24/4/1 24/ N2/ 2514
e EEERORRE (525 —O— EHERHRER FIU~FEH)  —H— —BRETUTAI

|| == ﬁﬁ!&l?ﬁﬁ (5 9 1K) 8 F2RE
—— —BRELTY TIA 2
| ———BREIVUTE
| =—o— —ﬁEEI( UZN
—HBREIVTU

—— BHRRNRER (F oW AT IR

—— —BREIVTB ———BREIVTC — —BREIYTD

—— —HBREIVTE?2 —0— —HBREIVTJ —BREIUTL

—0—-BREIUTO ———BREIUTPI —0—— —HRELYTP 2

—— —EBREIUTW —t——BRELUT X —t— EGRRHERE (W) IR

e —BRETYT d w—t— —BRETUT e —BRETYT7m EE)

| et —BRELYTm [EH) - ESERHRER G510 b —HRELYTF e ESERTRE (1 040 10-A
e ESERMBREE (1 019 10-8 BH#ERRMERE (1 0 10-C e —BREIU7BB —BRETY7CC
—BRETY7DD —BFEIVFEE) —BREIV7EE2
(mSv/h) WRERNES (BIRA - BI)
1. 000
0.100

L

001 Fus
‘21741

e

e —HBRELY7 G {tEHHFAD)
e —BRETY 7 H (LHmAD)

———BREIUTT

.

T4/ T24/8/1 242 257470

e —BRETYT G HEHIEAD) —D0— —BREITVYT G HEHM —tr— —BRETY 7 H {LRIEAD)

—HBRETYTH (L&) ———HREIYTMBEAD) ——— —HBRETYTM EAD)

—— —BEETYTV

(mSv/h)

1. 000

WBHRERMELS (ERHFREX)

0.100

0.010

,,,,,,,,,,,,,,,,,,,,,,,,

001
‘21741

“21/12N1

‘21/8/1

—tr— —HREIUTa

——HRETIVTI

DITIIITNIIIII T
Wﬂmmmmmmmv LA

P .'.".’,"",’l’,"l“ll'.’}

e —BREIVUTb

———BREIUTAA

NI o AN
RN g L
it

"22/41 " 22/8/1 "22/12/1 "23/4/1 '23/8/1 "23/12/1 '24/4/1 ' 24/8/1 '24/12/1 ' 25/4/1

——HRETY 7 —o— —HRETYT0 —t— —BRELYT )

—— —BREIUTI e —BRELY7KEAD) == -BREIUTKEAD)




